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TYAUeRT BiefavaTget Huan Wreftel Yot Shressiiyds ar

(1) =1 yeufreha g faumT smed. cmdeht fawm I med gem vt fowamandt 14 25 3 faum 11 9= miforq
fowamaTdt 26 T 75 38 TR 75 WA IEd. T T WS RIS IR,

(2) Icds JITEET 2 T IR,

(3) AUTeRT ArefquaTaTd! TR 90 fuftern wamEHt foe smEa.

(4) IW TieuImEE Wad ITUtE ool 3R, It UThHIREHR I WEEd! AN a9de
feorel o1med. e ST AU YA AT ITEC dqes Jeid 3aTelvId qrafaeaTHTel TE.
3E1. I . 6 AT SIS T WA b, 2 3T8A, A Al YRIAyHTol Figdra.
T . 6 0] JOIO)

(5) WIeAyHT Aigiaeie Ia U@l R0 AR . 3TH I AGHed™ o T e I 0 fod

0
)

X

.,‘
S

STt oSO
(6) T YIATETS! ThTUETT ek qqestd Aigiaeict! Ical, TTSMEE HEA Aigiaetel Jcak UMl ERuATd AU
TR

(7) e Aiefaeiel ST gRRT sl JU ATE.

(8) uITaT=R I ATGIadTT Herd hleeaT Tehal e T Sfeu==ma aTaR hdl. Ufetd Aigfaeiett el
TTRI S0 JUR ATEI.

(9) IYUCIehd Tcdeh UHTER GTeil o AGeTAT YHTE Thed A HUITETS] Hishad! ST 317, d9< e
EXCH

(10) dierg Faifed Jo THAT TEIEa YT Ical JFeTall I F9eaTd Jeia S Hiedl. et da fRiearh
TfeeTa Seledl TS IraT SRIe Shfal.

(11) TETE YT 21 /=eh MEBea™ e Jdereh fohal Tlien hegarers Jrearhe fa=men w& 3.

(12) AT 21 /=[eh / SnaraTaTed=l fae vmes- foha urerehi=t e f¥neromershrdt feha freronferstt areamers
T TSR 1 UTSadT He4d M= ARfHA T AR Tgdi-d qredrd.

(13) T /< /nerenerad e Taemsd ugdia drefavarh gea uhen uftydean Hehdeeesat diy
(eITeqeelt) Seatgeh ey seamared 10 (gg1) feasimdia wd.

(14) ggugN fohal 71 HRUMHS YA FehiaT AT AEBedd a5 Aidieal SAHIRHER Ir ot
HRIATE! hell STgd.

(15) ¥ ATeAwTEHEd TS WIS Seaneht feelell 373, Heb HIEMTdd |ictd JeTaed st Je 9grad.
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“amg, wenm wfiw Foeary !’
“yHig, W S wdd, oATfieed o
“H1 17 WBd AR Y
A S, Y Wed B AR TR,
‘U gam I 17 I AR HE?
‘P T g dE! T@ g0 AW AN HUIERE S AR?
Yo Ill, WoS AN e Yeqd W g HeY Haiddd deeareEn IR,
“Fow? W om!
IR, TN TEA A®Ad, AYAT TSN IR AR 3.
“STET, W MR WS vl HiguR?
“ft A AEl, el AeRdl. Bad el =@l wdl.
“aR a1l IS, HHEE =@ B AT GEhA!
“yuie, & O g JEEIdt QEdh. d U0 USd Sl 3fgd e
“f, =@ ey e’

()

01. SMHEY HIval hshd o feasft gomR FEmEn?
(1) . TS, 3fega wa™ &I (2) ST g gan e
(3) ara Yom feq (4) @A e guafaeft

02. o0 TR YcId HEYFl STEUT= o¥edl fehdl ?
(1) ¥ra (2) =1
(3) 9= (4) <3

THeedl HIHTETS! Wdkd

0101-Marathi Set-A 2 0of 32 Contd...



03.

04.

0s.

06.

07.

O Gded Ied@adl Hes v T[T ?
(1) g (2) HIGET il
(3) Tfeaquer @ Jumr AT (4) HHTEA=T A

Glefie  AEURE IR grom=l 3dqul  wevfidial @gre 37em shivrd ?

M | | | = | o= | W | 9 | A |
151 B N < S - S O A - R S - 1

(1) = Q) &
(3) 4) =T

gNIYe {Wieiell T 37efl goih STEMEI, 1 WEUR digld sl Hlefd.
FURREd weqErd! Am qaEel weg W et

(1) i (2) T

(3) e (4) fouer=h

JEicdehl WioeTehedl STHciel aTal ShivTd ?

() T POEE Teau o9t a@d @ o mu "isq,
(2) UG TN AWSAT T AT

(3) TETE GRE @l JHSH hid 3.

(4) FECIIHR Geftenm frepaea ama.

@reft fooiean ameTdia s1gRfied Segen A o7 WEE e
SHAE RN FHACHT Wl AHE HE QN ¢

(1) =m 2) =I*

(3) e (4) e o
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08. il feciesn andindfie fommor <pivrg ?
oqdl IeAl, Uear AN, Ul B TR!
(1) = (2) TR
(3) smd (4) e

09. YSaUhl wvr fegm smuwr e fr’ wevE @ A ?
(1) 5§ gL (2) 14 HregeR
(3) 14 TR (4) 11 g

9T 10 9 12 Edt gl -
@rell fooielt ot arem @R uTia foaioies YRl W i e,
o fasmmeaift weet AU HUT o

qur, wfafaeht

. 20 : U Seues! foeemfel A wMedd  fearditfaca fagesmestH
TR Shoewr fafgy awq@ yeeH wa g, fo. 15 st TSt wfdgw
qAhhR  THd! hg TEed &6 USRHTE 3gUTed oel. facenmedtft gt 3o,
Tiid AhTeRGid, el foifdas |, el AvOue TOR hedl gical. ATy
U™ holall deHI=l dlaet T dessfigared Il el fao whiqs  ohel.
fa. 19 SAfeRioRel EE SHIUCETAT Al SHE BU A=AT g FHRIY
HAHT SHoAl T et fageneait @r=aehs gqd okl

10. feneafht o F F8 hed?

(1) SFIEEE Hed e (2) AHEE YU, IT0 TG
(3) &P A W (4) wWSd TN T
11. YeAmn wemadt fedt fgam gman?
(1) =m (2) &1
(3) @M 4) =

THeedl HIHTETS! Wdkd

0101-Marathi Set-A 4 of 32 Contd...



12.

13.

14.

15.

16.

17.

IaHT o SIvc gesker YT IR ?

(1) @TEpideh (2) @R
(3) AR (4) TS

Trefl fode areRTdial 3gee W siiesd.
‘S TEhd Weg AUV HUS! HES[HH ITRal.

(1) 3% T&ha G (2) T
(3) 3HH (4) ol
(1) Srfess 2) ar

(3) fomsl 4)

Greft feden aeREmen Yl woe fomtae ¥Ea, 7 g S
QS HEUET @1 Ad1 HEE, WME=Al Te-F= IAE

(1) oiferm (2) weAf=

(3) IFmiw= (4) e

el fooled ecargeged 3% V&g YA Eel.
TEE MR TvE St gesr

(1) <hIcTEA (2) PIEA
(3) e (4) c&ra

JEIciehl I A AU oigeh A AT SE AEelen g fHEer.
(1) =it g - fFder mewd (2) AFgE ;e - gefen fe
(3) IE FeaRR - U ®HE (4) BA - TR U

THeedl HIHTETS! Wdkd
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18. Wieflad ar YUl FUIEE! A SrRSEREl T e,

e
:iilj ‘CSAET AR ATl adel g J
% (1) e/ (2) YER B
Eiii:: (3) BR WHU (4) "at q O
e
% 19. ‘Fg A IFH TEUAE HHMT UM HEEE], HRU AN AEHI TEUS S0
S .
(1) et ekt (2) e
(3) TITeRT (4) T

Tv 20 O 22 |t AT -
Hiqal TEE AR UG fo=Retedn Y= IR W= Hasr.

Fe 9t 3g&ear &,

IUBUTAT BETS ATl
ITShIBIAIshTed  TeAT haTH ?

I, W3 3 Wl a BTl

30T A FHGE AT
e it dgH
adehld i Al alsRdl

gie gidell WIEAT sSieaH ||
YN FORI Hed HorE! ?
e At et fay=h
YN ITHE0 Fedl

\yﬂq I 8l ANTAT
JYTUT ?ﬂT@; YITH'@ §IT@
foegamen ArmE 9 R
e I Wsge
qear |med 'l

THeedl HIHTETS! Wdkd
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20. Hfogdd G HIE GUH H AR?

(1) < (2) g TR

(3) TIBTAl FHGE (4) &= W
21. YEIAdeh! hHIICAT eQT HHMI W6 hiddd STl ATE ?

() @ 2) =

(3) Sty (4) droft

22. Hfoddia aviAHER el b fagm o ?
(1) Tiem armE o 39se g

(2) TEye ool dehg HHT UEd.
(3) TS ART WM, W 3 TSH Bl
(4) TS TARE WS ATl

23. Tl 3TheHIE HUOIATETS! Ioliohd GRSl ad™ ohadl.

(1) eIt 2) i @
(3) TFRAW (4) wm
24. ISR heledl AEUALATEGEH, ATeied] = higeh ohdl.
e Srft Tm Sieves v e
(1) e (2) oo
(3) TEE "R (4) HATHIH
25. S - TR 9EE, @ e :
(1) +g (2)
(3) HrHE (4) g

THeedl HIHTETS! Wdkd
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SECTION - II

MATHEMATICS
26. In the given figure how many vertices are there?

v
o

N
B

(1) 38 2 9
3) 10 @) 7

27. 65 kg 500 gm of sweets were brought by an Institute for school students.
If 60 kg 200 gm of sweets were distributed among the students how much
sweets are left?

(1) 5 kg 200 gm (2) 5 kg 100 gm
(3) 5 kg 400 gm (4) 5 kg 300 gm

28. In a circle, radius is 2 cm and length of a chord is 3 cm. What is the length
of longest chord of a circle?

(1) 5 cm (2) 6 cm
(3) 2 cm (4) 4 cm

SPACE FOR ROUGH WORK
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26.

27.

28.

favm - 11

fedem smedien ferdt farifeg smea?

(1) 8 2) 9
(3) 10 4) 7

Tl TEH Wl AT cuEmErdt 65 fRd 500 dm faerd smueft. 60 TRt
200 U7 fHeEY d©u HUAd A, R fhdl fierE Reds ufaed?

(1) S T 200 7\ (2) S f&F 100 7\

(3) S T&F 400 ™ (4) S f&F 300 ™

et B 2 Tl oM. Uk S 3 Wt MR, @ agesredl |atd  HisHl
Sheeft @reht fopdt @t e ?

(1) 5 @t (2) 6 @

(3) 2 @ (4) 4 ot

THeedl HIHTETS! Wdkd
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29. Which of the following mathematical expression has maximum value?

‘i’
mA

v
o

(1) 10 — 3 x 3 2) 10 x 3 + 3

‘i’
A

<2
S

e

(3) 10 + 3 + 3) 4) 3 x3+ 10

30. A rectangular room of length 10m and breadth 8m is tiled. What is the cost

of tilling at the rate of I 30 per sqm?

3 <

(1) T 2400 (2) T 2200
(3) % 2000 4) 80

31. A decimal fraction 0.17 cannot be written in which of the following way.

17 10 . 7
(M 100 ) 100 T 100

10+7 7
3) Foo (4 10+ 150

32. Select the correct option
(1) Selling price — Cost price = Profit
(2) Cost price + Selling price = Loss
(3) Selling price — Loss = Cost price

(4) Cost price — Profit = Selling price

33. 3,0,5, 7,9, 1 use each digit only once to obtain largest 6 digit odd number.
(1) 975310 (2) 105793
(3) 975301 (4) 973501

SPACE FOR ROUGH WORK
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29.

30.

31.

32.

33.

JEIcTIehl IV qerEeii=l fohAa @afa Sed TR ?
(1) 10 — 3 x 3 2) 10 x 3 + 3
(3) 10 + (3 + 3) 4 3 x 3 + 10

Uhl AR anEiciEl aret 10 o9 %G 8§ Wl IR, w1 FuEed wef
SEAUITETS] Wkl At Hieenm 30 ¥ Aywmol fRdl WS ool dne ?

(1) 2400 ¥ (2) 2200 ¥
(3) 2000 ¥ 4) 80 T

0.17 & <uNs 3qUieh HIMIAR feAfear I T,

17 10 7
(D 100 2) 100 T 100
10+7 7

fectean wfaidhl ome foum o ?
(1) ot fFma - @& fhaad = @
(2) @& fhga + foh fma = d
(3) foht ffaa - d@r = @& foa
(4) @& fhaa - w1 = fosht fhaa

3, 0, 5, 7, 9, 1 JUh UcIh 3Tk Uehard Il Hgl bl Hicad Hid!
fowm g AR *wa.

(1) 975310 2) 105793
(3) 975301 4) 973501

THeedl HIHTETS! Wdkd
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X

34, 6 hrs 40 min + 2 hrs 35 min = ?

0
%

‘i’
A

(1) 8 hrs 40 min (2) 8 hrs 15 min

"
K%

e

(3) 5 hrs 5 min (4) 9 hrs 15 min

35. What is the percentage of shaded portion in the given figure?

QO O

(1) 50% Q) 75%
(3) 25% 4) 85%

36. Chandu typed at the speed of N words per hour for 5 hours and Ali typed at
the speed of M words per hour for 6 hours. Total how many words did both
of them type?

(1) 5N x 6M 2) 6M - 5N
(3) 5M x 6N 4) 5N + 6M

37. In a milk collection centre there are 300 bags of 1 litre each and 600 bags of
500 ml each. If 560 litres of milk is distributed then how much milk is left?

(1) 40 litre (2) 50 litre
(3) 500 litre (4) 30 litre

SPACE FOR ROUGH WORK
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34.

3S.

36.

37.

6 a& 40 fafe + 2 am 35 fufe = fwdl?
(1) 8 am 40 fafe (2) 8 am 15 fafwe
(3) 5 dam 5 fafe @) 9 a= 15 fafwe

feeiean STThdidical {@ifhd W= Iehedl  ShIET.

(1) 50% 2) 75%

3) 25% 4) 85%

Wgd TR qEEl @ e A S a™ d AN UH qmen WA
AT 6 A Ihoi@d ohol. Q! Hesd Tohd! 18R Zeohoi@d  hal 7

(1) 58 x 6H (2) 6" — 54

(3) Su x 64 @) S& + 67

TH gEehad 1 oftet=a 300 fuwen @ 500 fHfeefler=an 600 fusrem e
cfGeRt 560 et Ut dRY H. W THW fohdl el g Rieqs Ul 7

(1) 40 et (2) 50 @
(3) 500 wftex 4) 30 ofie

THeedl HIHTETS! Wdkd
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Q2
o

38. Javed purchased 10 boxes of Mangoes at the rate of ¥ 3000 each. After some
days Mangoes got spoiled so he sold them at I 1200 per box. What is the

v
o

N
B

percentage of loss he got?

(1) 40% 2) 60%

(3) 50% 4) 70%

QL0

39. Arrange the following in descending order. Find the difference between the
second last and fourth last number. Which digit will occur at the tens place
in this difference?

40273, 41237, 41260, 42106, 41238
(1) 4 2 3
() 2 4 9

40. 2 gross papers out of 2 rim of papers is used for printing, how many dozen
papers are left?

(1) 672 (2) 56
(3) 66 (4) 288

41. Select the correct statement.
(1) Smallest divisor of 15 is 3.
(2) Only three divisors of 18 are even numbers.
(3) Any prime number has more than 2 divisors.

(4) Number of divisors is unlimited.

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

Sded 3000 ¥9AE Uk AGHT STeAT=AT 10 UST WG hedl. hial feawmHl
AT HE M AHeATR 1200 THAE Uh ANHY T Y fowedAr. @

I FIERA AT fehefl ToFh ARl e ?

(1) 40% (2) 60%
(3) 50% 4) 70%

CId H& IRAT HAM WIS Iagd AT GEAT 9 AILAT TEAHHA  Hh
HEAH SIHEAH HIUAT 3 AT ?

40273, 41237, 41260, 42106, 41238
() 4 2) 3
3) 2 @ 9

g4 0 SrIeHdl gF W Hg GEUEe! 9T a fRdl g3 @ freds
Tgdid ?

(1) 672 (2) 56
(3) 66 (4) 288

gl Hiv faum s IR,
(1) 15 =1 @&l @em fauses o,

(2) 18 =a Td faursehishl %o 9 fawree Tm@en eTRd.
(3) DR YIS §H U W faWTeeh  IEdr.
(4) faumesl T waifed TEd.

THeedl HIHTETS! Wdkd
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42. Arrange the multiples of 41 in ascending order. Which is the fourth even

v
o

‘i’
mA

number in this set?

<2
S

e

(1) 328 (2) 164

(3) 410 (4) 246

43. What is the perimetre of the given figure, when length of each square is

1.5 cm?
(1) 15 cm (2) 9 cm
3) 39 cm (4) 36 cm

44, How many one digit and two digit square numbers contain 1, 6 and 9 at any

place?
(1) 6 2) 9
3) 7 “4) 38

45. What is the simple interest on ¥ 3000 at the rate of 10 p.c.p.a for 3 years?
(1) X 300 (2) X 600

(3) X 800 4) T 900

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

41 3 VST IEdCI GHEEI SRl A AEcId el TUHET I "9
&I R A ?

(1) 328 (2) 164

(3) 410 4) 246

foeieen oTmepdidial Yo =RETel & 1.5 O 3T8ea™ I SAehdiEt gt
fomeft 2

(1) 15 @ (2) 9 o
(3) 39 Tt (4) 36 Tt

1, 6 9 9 g 3% BTG TIAH A Th IFh 9 TH  Fh THY
e fehdi?

(1) 6 2 9

G3) 7 (4) 8

T L g W10 TE 3000 ¥ Yok 3 auid EedeATS fehdl ?
(1) 300 ®73 2) 600 FF
(3) 800 ¥ (4) 900 &7

THeedl HIHTETS! Wdkd
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46. Which of the following indicates different fraction formed by shaded portion?

v
o

‘i’
mA

v
)

N
Bl

"
&

v
D

(1)

HE
7

47. If an article of ¥ 1000 is sold at 30% profit then how many rupees profit is

2)

Q2
o

‘i’
mA

Q2
o

Ty
¢
$

(4)

gained in the transaction?
(1) X 1030 (2) X 150
(3) < 300 (4) X 1300

48. Lokesh and Roshan are working in a same company. Roshan received salary
of rupees Fifteen and half thousand for 1 month and Lokesh received salary
of rupees quarter to Eighteen thousand for same month. Salary of Lokesh is
more by how much than Roshan’s salary?

(1) Quarter and two thousand rupees.

(2) Two thousand and fifty rupees.

(3) Twenty two hundred rupees.

(4) Twenty three and half hundred rupees.

SPACE FOR ROUGH WORK
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46. WU HIAT HAThddicd @iiehd A dB1 FAYOTh  gfed! ?

(1)

3)

47. 1000 TR a¥G 30% TR U foehel! @ A feRd] T AHT S ?
(1) 1030 ®7= 2) 150 T
(3) 300 ¥ (4) 1300 T

48. IhY I UIF UhHl HU4ld M Hid Bd. UIHAT Thl HEAT=T TR UL
g F AThIAT IS BN &9 THsIAl. a¥ 1 Afg=ard Aol USHUST
frdt @ R S Ed U ?

(1) HedGH BN &
2) IF TR TTE TR
(3) WY w9
(4) wRddER T

HeHT HIHTETS! Word
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49.

Height of two pillars is 117 ¢cm and 105 cm respectively. What is the height

of the pillar formed by joining these two pillars?
(1) 2.22 mm (2) 222 m
(3) 2.22 cm 4) 222 m

Note for Question 50 and 51.

Answer the following questions on the basis of pictographical information given

below. Pictograph indicates the number of students learning to play musical

Instruments.

Instrument Number of students

L CIGIGIGIGI®
Harmonium | () () ()

Flute L) ©)

o [0000GC

Scale : 1 picture = 10 students

50. Total how many students are learning to play musical instrument?
(1) 150 (2) 160
(3) 140 4) 130
51. Which instrument is learnt by least number of students?
(1) Flute (2) Guitar
(3) Tabla (4) Harmonium
SPACE FOR ROUGH WORK
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49. 9 GiErEr S OSAGHA 117 FH G 105 AW MR, K g @i TehHehiT
SIgd Toh @d TR hall. X I @ieTEl TR A1 fohel ?

(1) 2.22 Tt () 222
(3) 2.22 @t (4) 2.22 #t

g 50 I 51 |t AT

Gl ooy gifgdi=an 3aR 9ol Iedl forarn.

qTe PoreRom feremmeft w=n

- OO LLOE
wife () () O

w O ©

i (CIOIOIOIS

yamor - 1 fog = 10 foremeff

50. TRU Terdl foacenel amea Rmeea smmea?
1) 150 2) 160
(3) 140 4) 130

51. hIUd g aroeuR foeneff st 3ea?
(1) = 2) firer
(3) d&en (4) BHiEm

THeedl HIHTHTS! Wokd

0101-Marathi Set-A 21 of 32 P.T.O.




QO

Q2
o

52.  Nikhil purchased three chocobars from a shop. He paid X 50 to the shopkeeper
and got X 5 back from him. What is the cost of each chocobar?

<2
S

(1) 20 2 %10

e

3) X 12 4 T 15

53. Jay purchased an old bike at I 17000 and after 2 months he sold it at
% 15000. How much is the loss in this transaction?

3 <

(1) ¥ 2000 (2) T 4000
(3) T 3200 4) T 5000

54. From the given set how many numbers are not completely divisible by 2?
162, 131, 890, 772, 245
(1) Three (2) Four
(3) Two (4) One

55. Which number should be subtracted from quarter to twenty six thousand to
obtain 4 digit smallest even number?
(1) 25750 (2) 24750
(3) 27450 (4) 26750

56. If in the year 2010 Republic Day occured on Tuesday then in the same year
Teacher’s Day occured on which day?
(1) Sunday (2) Saturday

(3) Monday (4) Friday

SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

fifge @ =iwER fawd Oqd. geFgRen 50 TN AR fedeR wren
THMCAH U T W fi. ® e A fRa fed @idte

(1) 20 & 2) 10 =&
3) 12 ¥ @) 15 ¥

S S HRREEed 17000 FAE faehd USH @F A 15000 w9
foerelt o a1 Hagmd e foRdl T e e ?

(1) 2000 %9 (2) 4000 %9

(3) 3200 T (4) 5000 T

162, 131, 890, 772, 245 = wAmeid fhd! &1 2 4 Fw Wi o«
qrat ?

(1) (2) =R

(3) & 4

Iavl TedE AR AT FEIT BT T O hod®@ FAid AGMM  olgH
IR IFhl TuEE fed?

(1) 25750 (2) 24750

(3) 27450 (4) 26750

1 2010 & YSEcdeh fod H@ORl 9™ oI dui Ve faq shivren
Il EA?

(1) Tear (2) WHER
(3) HHaR (4) Yshal

THeedl HIHTETS! Wdkd
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57. Sanjeev deposited certain amount at the rate 5 p.c.p.a. for 3 years in a bank.

v
o

He received simple interest of I 1500 after 3 years. How much amount did
he deposit in the bank?

N
B

(1) % 11500 2) % 10000

(3) T 4500 4) T 5000

QL0

58. Which of the following numbers do not occur at unit place in the prime
numbers from 10 to 100?

1 1,3, 7 2) 9,7, 3
(3) 5,2 4 4 1,3, 9

59. Each angle of a rectangle is
(1) Acute angle (2) Right angle

(3) Obtuse angle (4) Linear angle

60. Quarter to nine litre means how much millilitre?
(1) 8750 ml (2) 9750 ml
(3) 8250 ml (4) 8550 ml

61. Select the correct option to indicate the number ‘Seven lakhs seven thousand
seven hundred and seven’ in figures.

(1) 770707 Q) 77777
(3) 707707 4) 707070

SPACE FOR ROUGH WORK
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57.

58.

59.

60.

61.

GSlgd HTal WhHA CHCY. 5 e 3 IY dohd oo, dF I¥HG I 1500

T BN S, @AM fhdt Wepn dehd 3ael BIdI?

(1) 11500 *9 (2) 10000 T4
(3) 4500 T (4) 5000 %A

10 @ 100 1 &AW AT B HEAAT THHEAH JElaushl hivd 37k
I ?

(n 1, 3, 7 2 9,7, 3
3) 5, 2, 4 4 1, 3, 9
HAAET YAk hid THdl.

(1) aEHH (2) HICHH
(3) oo (4) ferRTesH

UEu 9% il WU fehdt faferefien?
(1) 8750 furett (2) 9750 fueft
(3) 8250 fueht (4) 8550 fueht

‘Gd d& 9d g9R 9dY 9rd @ "edl 37ehid il fefgdrd ?
(1) 770707 ) 77777
(3) 707707 4) 707070

THeedl HIHTETS! Wdkd
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62. Identify the pattern and select the correct number to fill the blank box.

v
o

‘i’
mA

5 7 10 22 | 33 | 46

2
D

e

7
0
&

(1) 5 2) 17

(3) 10 4) 15

63. Select the correct option which indicates the ascending order of fractions.

11 17

1
» 6 6 @) 666> 6 6

NES

=N[9)
N—

(1)

9 b

11 1 5 6 17 11
© 6 @ 6 66 6 6

oN[o)
>3
[

=N[¥)
N—

3)

64. 225 x 72 = |:| select the correct option.
(1) 16200 (2) 2250

(3) 1650 (4) 22500

65. When two cubes are joined to form a cuboid then the number of edges are
more than number of surfaces by how much?

(1) More by 2 (2) More by 3
(3) More by 8 (4) More by 6
66. Sclect the correct option to replace the box. % + I%] = %
(1 4 2) 2
3) 3 4 5

SPACE FOR ROUGH WORK
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62.

63.

64.

65.

66.

fooien oTepfaeg @aTd U TRl =iehdld AU wE fotEl.

5 7 10 22 | 33 | 46

(1) S 2) 17
(3) 10 4) 15

Gleliel qaiaTdie  STqUiihel =@l AT HISU holell 3T UM ShIUTAT ?

504 1 11 17 1 5 6 11 17
D 6 6 6 66 @ 6 6666
5016 17 11 15 6 17 11
(3) 69 69 69 69 6 (4) 67 67 69 69 6

225 x 72 = [ | <da am wE fEe
(1) 16200 (2) 2250
(3) 1650 (4) 22500

T TRl 3lhes ThHH SISl ITHAT TIR BT B SThdiean e
G Yol Heve foRd Sed e ?

(1) 2 3 I (2) 3 9 I

3) 8 4 wrd 4) 6 3 e

4 LI_ % Irhemed AU T 9T HEsT.

7 8
(1) 4 2) 2
(3) 3 4 S

THeedl HIHTETS! Wdkd
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3

i
E 67. 30% of 60 = ?
i’i’i
Eéj (1 9 2) 90
ol 3) 30 @) 18
E~=
;’:i‘
E‘."’i 68. Last year 427523 students of std. 5" and 238249 of std. 8™ appeared for
f.ifl scholarship examination. Total how many students appeared for the examination.

(1) 662757 Q) 665772

3) 662752 4) 667527

69. Solve
2.4 5 13 2 )

(5+45+700 +1000) ~ (270 00 * T000) =

(1) 3.003 2) 3.005

3) 3.113 4) 3.004

70. Riya purchased two and quarter metre of white cloth and two and three quarter
metre of blue cloth to stitch a uniform. Total how much cloth did she purchase?

(1) 5 metre (2) 4.15 metre

(3) 4.95 metre (4) 5.10 metre

71. 3000 is divided by which number to get the quotient as 85 and remainder as 25?
(1) 45 2) 25

(3) 55 4) 35

SPACE FOR ROUGH WORK
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67.

68.

69.

70.

71.

60 & 30% = fhdl?
(1) 9 2) 90
(3) 30 4) 18

oA o et weEdl saea e 427523 foeeneff 9 sEe STedN
238249 foe=meff smer g, W wHw fohdt fogenef wheen s@w g e

(1) 662757 2) 665772
(3) 662752 4) 667527

Ahdld Ira G&T Toran.

2 . 4 5 13 . 2\
(5+76+ 100 * T500) - (2* 10 o0 *1000) = |
(1) 3.003 2) 3.005
3) 3.113 4) 3.004

fEam ey RewEEdl dedem Hier i@t 9 gEuidia Hid fHem T e
fasrd omod. W A wpw fRdt dfiex woe foskd STl ?

(1) 5 H& 2) 4.15 #x
(3) 4.95 #HX (4) 5.10 "X

3000 I TIAT fohdH WA 3TEAT WWRR U=dMUst o oehl J<€id 3 ?
(1) 45 (2) 25
(3) 55 4) 35

THeedl HIHTETS! Wdkd
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72.  Suhas participated in a motorbike ride competition of 60 km. He covered the
distance with the speed 15 km/hr. If he started at 10:15 am. then at what time
will he reach the destination.

‘i’
A

<2
S

e

0.0

(1) 14:15 2) 12:15

0
)

(3) 14:30 4) 13:00

Q2
o

‘*’
mA

3 <

73. Solve
70602 + : = 92328
(1) 22823 (2) 21726

(3) 21720 4) 27612

74. 12 dozen notebooks are packed in one bundle. If the thickness of each notebook
is 5 mm then what is the height of the bundle in cm?

(1) 72 cm (2) 720 mm

(3) 720 deci metre (4) 720 m

75.  Convert the improper fraction 42_7 into mixed fraction.

(1) 15 5 @ 3 &
3) 153 @ 15 %

SPACE FOR ROUGH WORK
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72.  GEEH 60 TRt AR quf wwATeNl HieREReRGeAl WY 9T Udel. W d
AR 15 forft amft aH O hal. SR W @ TWal SR 10.15 ISdr g®
wefl @ oa ffvaa fowmft frdt arstar dg=en @@ ?

(1) 14:15 arean (2) 12:15 oo

(3) 14:30 areman (4) 13:00 @

73, 70602 + [ | = 92328 @A™, SRl UM HEAT Asel ?
(1) 22823 (2) 21726

(3) 21720 4) 27612

74, 12 ST GEET UH IS AYAl THl G@rl &l 5t e, @ dmme
TeSH St fRdt It WY

(1) 72 @ft (2) 720 fosft
(3) 720 SfEE @) 720

75. 43—7 T SAQUIThIel JUTiehgad  STYUTIhId &AL ohl.

1 15 3 2 3 %
3) 15 3 @ 15 %
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